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(AT) =                                        m3 N aire /kg combustible  

 

(AP) = 1,29 kg/m3N . AT m
3 N aire /kg combustible (kg aire/kg combustible) 
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(C) m=a; (H) p=2b  b=    ; (N) 3,76x=c 
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AT=      m +            m3N O2/m
3N combustible 
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VT(secos)= m + 3,76 m +              m3N gases combustión/m3N combustible 
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(C) n=a; (H) m=2b  b=    ; (O) 2x=2a + b  2x=2n +       x=n + 
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AT =                                             m3N aire/m3N combustible  

 

Ap= 1,29 kg/m3N . AT m
3N aire/m3N combustible (kg aire/m3N combustible ) 
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VT(secos) =                                                    m3N gases combustión/m3N combustible 

GT(secos) =                                                                    kg gases combustión/m3N combustible  
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